

## See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



## Form **990-PF**

**Return of Private Foundation** 

or Section 4947(a)(1) Trust Treated as Private Foundation

 ▶ Do not enter social security numbers on this form as it may be made public.
 ▶ Information about Form 990-PF and its separate instructions is at www.lrs.gov/form990pf. Department of the Treasury
Internal Revenue Service

OMB No 1545-0052

For	calen	dar year 2014 or tax year	oeginning _			, and ending		
Nar	ne of	foundation	-				A Employer identification	number
Т	HE	COMMUNITY F	OUNDAT	ION.	INC.		23-7033813	
		nd street (or PO box number if				Room/suite	B Telephone number	
P	.0	BOX 13328					601-946-91	52
		own, state or province, coul	ntry and 7IP (	r foreign n	oostal code		C If exemption application is p	
			236-33				The exemption application is p	criding, cricic hare
			Initial return		Initial return of a fe	ormer public charity	D 1. Foreign organizations	check here
•			Final return		Amended return	ormor public origins	7. Torongir organizations	, and an incre
		=	Address chan	ne	Name change		Foreign organizations me check here and attach co	eeting the 85% test,
H C	heck			<b>.</b>	kempt private foundation			
	_	ction 4947(a)(1) nonexemp			Other taxable private found	ation	E If private foundation sta under section 507(b)(1)	
I Fa		rket value of all assets at er			ing method: X Cash	Accrual	F If the foundation is in a	•
		Part II, col (c), line 16)	,		ther (specify)		under section 507(b)(1)	
-	\$	49,125	.493. F		ımn (d) must be on cash	basis.)		(-),
Pa	ırt l	Analysis of Revenue and	Expenses		(a) Revenue and	(b) Net investment	(c) Adjusted net	(d) Disbursements
		(The total of amounts in columnecessarily equal the amounts	ins (b), (c), and (c in column (a))	l) may not	expenses per books	income	income	for charitable purposes (cash basis only)
	1	Contributions, gifts, grants	, etc., receive	t			N/A	
	2	Check X if the foundation		ach Sch B				
	3	Interest on savings and tempor cash investments	ary		367.	367.		STATEMENT 1
	4	Dividends and interest from	n securities		1,134,774.	1,134,774.		STATEMENT 2
	5a	Gross rents			_			
	b	Net rental income or (loss)						
Φ	6a	Net gain or (loss) from sale of a			<2,312,084.	>		
n n	b	Gross sates price for all assets on line 6a	<u>8,079,</u>	<u>969.</u>			TECE	
Revenue	7	Capital gain net income (from P	art IV, line 2)			0.	18/	VED
ш	8	Net short-term capital gain					MAY TO	7
	9	Income modifications Gross sales less returns					4 1	PAR 70/
	10a	and allowances					GOEN, C	075 /5/
	b	Less Cost of goods sold					JOEA,	/6//
	C	Gross profit or (loss)			22.225		200	17 E
	11	Other income			<20,226.			STATÉMENT 3
	12_	Total Add lines 1 through		_	<1,197,169.	<u>&gt; 1,135,141.</u>		,
	13	Compensation of officers, direct		С	0.	0.		0.
	14	Other employee salaries ar	•					
) <del>(</del> 5	1	Pension plans, employee b	enents STM	m 1	32,021.	0.		32,021.
20gense	16a	Legal fees				0.	-	
က္ဆို	0	Accounting fees	STM		32,085. 231,900.	231,900.	1	32,085.
	47	Other professional fees	STM	1 0	231,900.	231,900.	-	0.
≽ ≩	17	Interest Taxes	STM	r 7	154,727.	105,720.	_	0.
VELU WAY 』 3 20 Administrative Expens	18 19	Depreciation and depletion		1 /	134,121.	103,720.	<del> </del>	
	20	Occupancy						
SCAININEL MAY sting and Administrati	21	Travel, conferences, and n	naatinae		6,629.	0.		6,629.
and /	22	Printing and publications	iccuitys		0,025.	<u> </u>		0,029.
<u>≨</u> ≅		Other expenses	STM	TT R	40,410.	39,685.		725.
ating	24	Total operating and admi			1071101	33,003.		723.
, Opera		expenses. Add lines 13 th			497,973.	377,506.		71,460.
ŏ	25	Contributions, gifts, grants	_		1,750,000.		<del> </del>	1,750,000.
	l	Total expenses and disbu				-		
		Add lines 24 and 25			2,247,973.	377,506.		1,821,460.
	27	Subtract line 26 from line	12:					
		Excess of revenue over expens		ments	<3,445,142.	<b>&gt;</b>		
		Net investment income (if				757,635.		
_	c	Adjusted net income (if ne	gative, enter -0-)				N/A	

423501 11-24-14 LHA For Paperwork Reduction Act Notice, see instructions

<u>For</u>	m 99	00-PF (2014) THE COMMUNITY FOUNDATIO	•	23-	7033813 Page 2
. Гъ	art	Balance Sheets Attached schedules and amounts in the description	Beginning of year	End of	
	art	column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing	255,789.		
	2	Savings and temporary cash investments	1,265,190.	256,659.	256,659.
	3	Accounts receivable			
		Less: allowance for doubtful accounts			
	4	Pledges receivable ▶			
		Less: allowance for doubtful accounts ▶			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons			
	7	Other notes and loans receivable			
		Less: allowance for doubtful accounts			
ħ	8	Inventories for sale or use			
Assets	9	Prepaid expenses and deferred charges			
Ä	10a	Investments - U.S. and state government obligations			
	b	Investments - corporate stock STMT 9	28,282,988.	28,559,061.	23,449,831.
	C	Investments - corporate bonds STMT 10	6,147,801.	4,426,908.	4,039,999.
	11	Investments - land, buildings, and equipment basis			
		Less accumulated depreciation			
	12	Investments - mortgage loans			
	13	Investments - other STMT 11	13,295,280.	12,559,278.	21,379,004.
	14	Land, buildings, and equipment; basis			
		Less accumulated depreciation			
	15	Other assets (describe ►)			
	16	Total assets (to be completed by all filers - see the			
_		instructions. Also, see page 1, item I)	49,247,048.	45,801,906.	<u>49,125,493.</u>
	17	Accounts payable and accrued expenses			
	18	Grants payable			
es	19	Deferred revenue			
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons		<u>-</u>	
jab	1	Mortgages and other notes payable			
_	22	Other liabilities (describe >)	<del> </del>		
				_	
_	23	Total liabilities (add lines 17 through 22)	0.	0.	
		Foundations that follow SFAS 117, check here			
s		and complete lines 24 through 26 and lines 30 and 31.	40 045 040		
ည	24	Unrestricted	49,247,048.	45,801,906.	
ョ	25	Temporarily restricted			
or Fund Balances	26	Permanently restricted			
Š		Foundations that do not follow SFAS 117, check here			
户		and complete lines 27 through 31.			
sts	27	Capital stock, trust principal, or current funds			
Net Assets	28	Paid-in or capital surplus, or land, bldg., and equipment fund			
¥	29	Retained earnings, accumulated income, endowment, or other funds	40 047 040	45 001 006	
ž	30	Total net assets or fund balances	49,247,048.	45,801,906.	
			40 247 040	45 001 006	
_	31	Total liabilities and net assets/fund balances	49,247,048.	45,801,906.	
P	art	III Analysis of Changes in Net Assets or Fund B	alances		
_	Tota	I net assets or fund balances at beginning of year - Part II, column (a), line	 30	<del></del>	
		st agree with end-of-year figure reported on prior year's return)	00	1	49,247,048.
		r amount from Part I, line 27a		2	<3,445,142.>
		r increases not included in line 2 (itemize)		3	0.
		lines 1, 2, and 3		4	45,801,906.
		eases not included in line 2 (itemize)		5_	0.
		I net assets or fund balances at end of year (line 4 minus line 5) - Part II, co	olumn (b), line 30	6	45,801,906.
					Form <b>990-PF</b> (2014)

2010	3,231,569.	57,812,301.		.055898
2009	2,983,538.	44,089,786.		.067670
Total of line 1, column (d)			2	.233161
· · · · · · · · · · · · · · · · · · ·		e number of years	3	.046632
Enter the net value of noncharitable-use as	ssets for 2014 from Part X, line 5		4	50,236,651.
Multiply line 4 by line 3			5	2,342,636.
Enter 1% of net investment income (1% o	f Part I, line 27b)		6	<u>7,576.</u>
Add lines 5 and 6			7	2,350,212.
Enter qualifying distributions from Part XII	, line 4		8	1,821,460.
	2009  Total of line 1, column (d)  Average distribution ratio for the 5-year bathe foundation has been in existence if less.  Enter the net value of noncharitable-use as Multiply line 4 by line 3  Enter 1% of net investment income (1% of Add lines 5 and 6)	Total of line 1, column (d) Average distribution ratio for the 5-year base period - divide the total on line 2 by 5, or by the foundation has been in existence if less than 5 years  Enter the net value of noncharitable-use assets for 2014 from Part X, line 5  Multiply line 4 by line 3  Enter 1% of net investment income (1% of Part I, line 27b)	Total of line 1, column (d) Average distribution ratio for the 5-year base period - divide the total on line 2 by 5, or by the number of years the foundation has been in existence if less than 5 years  Enter the net value of noncharitable-use assets for 2014 from Part X, line 5  Multiply line 4 by line 3  Enter 1% of net investment income (1% of Part I, line 27b)  Add lines 5 and 6	Total of line 1, column (d) Average distribution ratio for the 5-year base period - divide the total on line 2 by 5, or by the number of years the foundation has been in existence if less than 5 years  Enter the net value of noncharitable-use assets for 2014 from Part X, line 5  Multiply line 4 by line 3  Enter 1% of net investment income (1% of Part I, line 27b)  Add lines 5 and 6

If line 8 is equal to or greater than line 7, check the box in Part VI, line 1b, and complete that part using a 1% tax rate. See the Part VI instructions.

_	990-PF rt <b>Vi</b>	(2014) Excise T	THE ax Bas	COM sed o	MUNI n Inve	TY I	OUND	ATION, me (Sect	<u>INC.</u>	0(a),	4940(b)	, 4940	(e), or 4	23- 1948	7033 - <b>see</b> i	813 nstru	ıctio	Page 4 ns)
1a	Exempt	operating foun	dations d	escribed	d in sectio	on 4940	(d)(2), che	ck here 🕨	and er	nter "N/.	A" on line	1.	<u> </u>			• • • • • • • • • • • • • • • • • • • •		
		ruling or detern																
b	Domest	ic foundations t	that meet	the sec	tion 4940	(e) requ	iirements ii	n Part V, che	ck here 🕨	•	and enter	1%	<b>)</b>	1		1	<u>5,1</u>	<u>53.</u>
	of Part I	, lıne 27b																
C	All other	domestic foun	idations e	nter 2%	of line 2	7b. Exer	npt foreigr	n organization	ns enter 4%	of Par	t I, lıne 12,	col. (b).	. )					
2	Tax und	er section 511	(domestic	c section	n 4947(a)	)(1) trus	ts and taxa	able foundation	ons only. Ot	hers er	nter -0-)			2				<u>0.</u>
-		s 1 and 2												3	ļ	1	<u>5,1</u>	<u>53.</u>
4	Subtitle	A (income) tax	(domesti	c sectio	n 4947(a	)(1) trus	its and tax	able foundati	ions only. O	thers e	nter -0-)			4	ļ			<u>0.</u>
		ed on investme	ent incom	ie. Subi	tract line	4 from l	ıne 3. If zer	ro or less, en	ter <b>-</b> 0-					5		1	<u>5,1</u>	<u>53.</u>
		Payments:								ı								
		tımated tax pay					dited to 20	114		6a		39	,512.	-				
	•	foreign organiz								6b	ļ			┦				
		I with application				file (For	m 8868)			6c				-				
		withholding err	-							<u>6d</u>	<u></u>			ļ		_		4.0
		edits and paymo			-			<b>—</b>						7		3	9,5	<u>12.</u>
		y <b>penalty</b> for u							2220 is attac	ched			_	8	-		-	
		. If the total of												9	-		4 3	
		ment. If line 7							overpaid	_		. ا .		10	-		4,3	<u>59.</u>
		amount of line  A Staten						<u>►</u>			4,35	9 .   Ref	unded 🗪	11	<u> </u>			<u>0.</u>
									- 1! !!								Yes	No
18	-	he tax year, dıd		bation a	ttempt to	innuend	e any nau	onai, state, o	r local legisi	ation o	r did it par	ticipate (	or intervene	e in		4-	163	_
		tical campaign?		una tha	voor (outh	or direc	the or ender	anthy) for not	itiaal niiraaa	(	. inotriiotio	na far th	a deficition	.13		1a		X
		end more than nswer is "Yes"		_	-		_							•		1b		
		ted by the fo							zuviues and	а сори	es or arry	тасепа	is publish	ea or				
		oundation file <b>i</b>					e activitie	·S								4.		x
		e amount (if an			-		(caction AC	)55) imposer	during the	vear.						1c		
		the foundation.											0.					
		e reimbursemei	_											-				
-		rs. > \$			_	iualion c	Juling the 3	real for point	cai expendi	lui e lax	liliposeu	on lound	Janon					
2	_	foundation eng				have no	t nrevious!	v heen renor	ted to the IF	352						2		x
-		" attach a det						y boom ropon	tod to the h	.0								
3		foundation mad						ne IRS un its	anverning ir	nstrum	ent article	s of inco	rnoration	٦r				
·		or other similar							-		o,,, a, ,,,,,,	0 01 11100	., pora			3		x
4a		oundation have							-							4a	Х	
		has it filed a tax							, ,							4b	X	
		re a liquidation,						raction durin	g the year?							5		Х
	If "Yes,	" attach the s	tatemen:	t requii	red by G	eneral i	Instructio	n T										
		equirements of		-	-				satisfied eit	ther:								
	By lan	guage in the go	overning i	nstrum	ent, or													
	<ul><li>By sta</li></ul>	te legislation th	at effectiv	ely amo	ends the o	governir	ig instrumo	ent so that no	o mandatory	/ direct	ions that c	onflict w	ith the state	e law				
	remain i	n the governing	ınstrum	ent?												6	X	
7	Did the f	oundation have	e at least S	\$5,000 i	ın assets	at any tı	me during	the year? If	"Yes," com	plete	Part II, co	ol. (c), ar	nd Part X\	/		7	X	
8a	_	e states to whic	h the fou	ndation	reports o	r with w	thich it is re	egistered (se	e instruction	ns) 🕨		_						1
	<u>MS</u>												_			-		1
b		swer is "Yes" to								torney	General (o	r design	ate)					1
		state as require						•								8b	<u> X</u>	<b></b>
		undation claimi							-			***	)(5) for cale	endar				_
		4 or the taxable								-						9		X
10	Did any	<u>persons becom</u>	ie subs <u>ta</u> i	ntial cor	<u>itributors</u>	during	the tax yea	ιΓ <sup>γ</sup> If "Yes," att	ach a schedul	le listing	their names	and addr	esses _			10		X
															For	m <b>990</b>	-PF (	(2014)

423531

orm	990-PF (2014) THE COMMUNITY FOUNDATION, INC. 23-703	3813		Page 5
Pa	rt VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of			
	section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		X
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges?			
	If "Yes," attach statement (see instructions)	12		X
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	X	
	Website address ► N/A			
14	The books are in care of $\blacktriangleright$ W.K. PAINE Telephone no. $\blacktriangleright$ 601-9	46-9	152	
	Located at ▶P.O. BOX 13328, JACKSON, MS ZIP+4 ▶3	9236	-33	28
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here	_	<b></b>	
	and enter the amount of tax-exempt interest received or accrued during the year	N	/A	_
16	At any time during calendar year 2014, did the foundation have an interest in or a signature or other authority over a bank,		Yes	No
	securities, or other financial account in a foreign country?	16		X
	See the instructions for exceptions and filing requirements for FinCEN Form 114, (formerly TD F 90-22.1). If "Yes," enter the name of the			
	foreign country			
Pa	rt VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly):			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person?			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)	1 1		
	a disqualified person?	1 1		
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? X Yes No			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? X Yes No			
	(5) Transfer any income or assets to a disqualified person (or make any of either available			
	for the benefit or use of a disqualified person)?			
	(6) Agree to pay money or property to a government official? (Exception. Check "No"			
	if the foundation agreed to make a grant to or to employ the official for a period after			
	termination of government service, if terminating within 90 days.)			
b	If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations	1 1		
	section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		X
	Organizations relying on a current notice regarding disaster assistance check here			
C	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected			
	before the first day of the tax year beginning in 2014?	1c		X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation			
	defined in section 4942(j)(3) or 4942(j)(5)):			
а	At the end of tax year 2014, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning	1 1		
	before 2014? Yes X No			
	If "Yes," list the years >			
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect			
	valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach			
	statement - see instructions.) N/A	2b		
C	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.			
	<b>&gt;</b>			
За	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time			
	during the year?			
b	If "Yes," did it have excess business holdings in 2014 as a result of (1) any purchase by the foundation or disqualified persons after			
	May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose			
	of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,			
	Form 4720, to determine if the foundation had excess business holdings in 2014.)	36	_	_X_
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		X
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that	1 1		
	had not been removed from jeopardy before the first day of the tax year beginning in 2014?	4b		X

orm 990-PF (2014) THE COMMUNITY FOUNDATION		Name and a	<u>23-70338</u>	13 Page 6
Part VII-B   Statements Regarding Activities for Which	Form 4/20 May Be F	requirea (contin	ued)	<del></del>
5a During the year did the foundation pay or incur any amount to:				
(1) Carry on propaganda, or otherwise attempt to influence legislation (section	,		es 🗶 No	
(2) Influence the outcome of any specific public election (see section 4955); of	or to carry on, directly or indire			
any voter registration drive?			es X No	
(3) Provide a grant to an individual for travel, study, or other similar purposes		Ye	es X No	
(4) Provide a grant to an organization other than a charitable, etc., organization	n described in section	<del></del>		
4945(d)(4)(A)? (see instructions)			es X No	
(5) Provide for any purpose other than religious, charitable, scientific, literary,	or educational purposes, or f			
the prevention of cruelty to children or animals?			es X No	
<b>b</b> If any answer is "Yes" to 5a(1)-(5), did <b>any</b> of the transactions fail to qualify uni	der the exceptions described i	n Regulations		
section 53.4945 or in a current notice regarding disaster assistance (see instru	ictions)?		N/A L	5b
Organizations relying on a current notice regarding disaster assistance check t	ere		▶□□	
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption f	rom the tax because it maintai	ned		
expenditure responsibility for the grant?	N	「/A	es L No	
If "Yes," attach the statement required by Regulations section 53.494	5-5(d).			
${\bf 6a}$ Did the foundation, during the year, receive any funds, directly or indirectly, to	pay premiums on			
a personal benefit contract?		Ye	es X No	
<b>b</b> Did the foundation, during the year, pay premiums, directly or indirectly, on a p	ersonal benefit contract?		_ 6	6b X
If "Yes" to 6b, file Form 8870				
7a At any time during the tax year, was the foundation a party to a prohibited tax s	helter transaction?	Ye	es 🗶 No 📙	
b If "Yes," did the foundation receive any proceeds or have any net income attribu				7b
Part VIII Information About Officers, Directors, Trust	ees, Foundation Ma	nagers, Highly	<b>y</b>	
Paid Employees, and Contractors				
List all officers, directors, trustees, foundation managers and their		T (-) Componentian	(d) Contributions to	
(a) Name and address	(b) Title, and average hours per week devoted	(c) Compensation (If not paid,	(d) Contributions to employee benefit plans and deferred	(e) Expense account, other
	to position	enter -0-)	compensation	allowances
- · <del>-</del>	PRESIDENT AND	TREASURE	R	
P.O. BOX 13328				_
JACKSON, MS 39236	20.00	0.	0.	0.
	SECRETARY			
P.O. BOX 13328	4 00		_	_
JACKSON, MS 39236	1.00	0.	0.	0.
<del></del>				
2 Compensation of five highest-paid employees (other than those inc	luded on line 4) If some	anton UNIONE U		
Compensation of tive highest-paid employees (other than those file	(b) Title, and average	enter NONE.	(d) Contributions to	(a) Eynense
(a) Name and address of each employee paid more than \$50,000	hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred	(e) Expense account, other
NONE	devoted to position		compensation	allowances
NONE				
······································				
		<del></del>		
Fatal number of other employees paid over \$50,000	<u> </u>			
Total number of other employees paid over \$50,000		<del></del>	Form	990-PF (2014)
			FUIII	<b>330-F</b> I <sup>-</sup> (2014)

423551 11-24-14

Form 990-PF (2014) THE COMMUNITY FOUNDATION, INC.	23-7	7033813 Page 7
Part VIII Information About Officers, Directors, Trustees, Foundat Pàid Employees, and Contractors (continued)		
3 Five highest-paid independent contractors for professional services. If none, enter	"NONE."	
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
POPE ASSET MANAGEMENT, LLC	INVESTMENT	
5100 POPLAR AVENUE, MEMPHIS, TN 38137	MANAGEMENT	231,900.
Total number of others receiving over \$50,000 for professional services  Part IX-A   Summary of Direct Charitable Activities		<u>▶</u> 0
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistic number of organizations and other beneficiaries served, conferences convened, research papers produced.		Expenses
1 N/A		
2		
3		
4		
Part IX-B Summary of Program-Related Investments		
Describe the two largest program-related investments made by the foundation during the tax year on li	nes 1 and 2.	Amount
1 <u>N/A</u>		
2		
All other program-related investments. See instructions.		
Total. Add lines 1 through 3	<b>&gt;</b>	0.
		Form <b>990-PF</b> (2014)

P	Minimum Investment Return (All domestic foundations must complete this part. Foreign four	ndations,	see instructions.)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
a	Average monthly fair market value of securities	1a	49,120,715.
b	Average of monthly cash balances	1b	1,880,961.
C	Fair market value of all other assets	1c	
d	Total (add lines 1a, b, and c)	1d	51,001,676.
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation) 1e 0.		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	51,001,676.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	765,025.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	50,236,651.
6_	Minimum investment return. Enter 5% of line 5	6	2,511,833.
Р	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations are foreign organizations check here and do not complete this part.)	d certain	
1	Minimum investment return from Part X, line 6	1	2,511,833.
2a	Tax on investment income for 2014 from Part VI, line 5		
b	Income tax for 2014. (This does not include the tax from Part VI.)		
C	Add lines 2a and 2b	2c	<u>15,15</u> 3.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	2,496,680.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	2,496,680.
6	Deduction from distributable amount (see instructions)	6	0.
<u>7_</u>	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	2,496,680.
Р	Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
a	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	1,821,460.
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
a	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	1,821,460.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income. Enter 1% of Part I, line 27b	5	0.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	1,821,460.
	<b>Note</b> . The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation of 4940(e) reduction of tax in those years.	qualifies fo	or the section

Page 9

· Part XIII Undistributed Income (see instructions)

Distributable amount for 2014 from Part XI, Inno 7   Corpus   Years prore to 2013   2013   2014   2, 496 , 680 .		(a)	(b) Years prior to 2013	(c) 2013	(d) 2014
Ine 7	4. Distributable amount for 2014 from Part VI	Corpus	rears prior to 2015	2013	2014
2. Undestructed movers, damy, as of the end of 2014 a. Enther amount of 2019 only \$ 10 cal for prior years:  3. Excess distributions carryover, if any, to 2014; a from 2009 b. From 2010 c. From 2010 c. From 2010 c. From 2011 d. From 2012 c. From 2013 c. From 2013 c. From 2013 c. From 2014 c. From 2015 c. From 2015 c. From 2016 c	-				2 405 500
a Enter amount for 2013 only b Total for pror years:	· · · · · · · · · · · · · · · · · · ·				4,430,000.
\$ Excess diskleutions carryover, if any, to 2014; a Firm 2010	-			1 605 632	
3 Excess distributions carryover, if any, to 2014: a From 2009 b From 2010 c From 2011 d From 2012 e From 2013 1 Total of lines 3 at trougle 1 Applied to Jo Lou to more than line 2a 3 Applied to 2015, but not more than line 2a 4 Applied to 2015, but not more than line 2a 5 Applied to undistributed income of prior years (Election required - see instructions) c Frankt as distributions out of corpus (Election required - see instructions) c Frankt as distributions out of corpus (Election required - see instructions) 0. d Applied to 2014 distributable amount e Remaining amount distributed out of corpus (Election required - see instructions) 0. d Corpus Add tend to the semination of the semination of the semination and the semination of the semi			· <del>_</del>	1,033,032.	<del> </del>
3 Excess distributions carryover, if any, to 2014:  a from 2009 b From 2010 c From 2011 d From 2012 e From 2013 Total of lines 3s through e  Q out of the same of	protation prior years.		0		
a From 2019 b From 2012 c From 2011 d From 2012 d From 2012 d From 2013 d From 2013 d From 2013 d From 2014 d From 2012 d From 2015 d Fro	Evenes distributions carryover if any to 2014:				
From 2010 From 2012 From 2013 From 2013 From 2013 Frotal of lines 3a through e  0 . 4 Outshying distributions for 2014 from part XII, Intel x № \$ 1,821,460.  4 Applied to undistributed income of prior years (Election required - sea instructions) From 2015	1				
From 2011 d From 2012 eFrom 2013 f Total of lines 3a through e  O . 4  Oualitying distributions for 2014 from Part XII, Inn 4-1 ► \$ 1.821.460. 4 Applied to 2013, but not more than time 2a  Applied to 2013, but not more than time 2a  Applied to 2014 distributions out of corpus (Election required - see instructions)  O . 4  Applied to 2014 distributions amount e Remaining amount distributed out of corpus (Election required - see instructions)  O . 4  Applied to 2014 distributions amount e Remaining amount distributed out of corpus  C Excess destributions corpoives applied to 2014 (if an amount appears in notimum (8), the akine emount must be review in coulum (6), the akine emount must be review in coulum (6). The akine emount must be review in coulum (6). The akine emount in the Section 494(2a) tax had selected to 2014 (if an amount appears in column (8). The akine emount must be review in column (8). The akine emount must be review in column (8). The akine emount must be review in column (8). The akine emount must be review in column (8). The akine emount must be review in column (8). The akine emount must be review in column (8). The akine  O . 6  Einter the net total of each column as indicated below.  A Corpus Ada lines 34 4e, and 4e Subtract lines  O . 6  Einter the amount of prory years' undistributed encome for which a notice of deficinency has been in ssued, or on which the section 494(2a) tax has been previously assessed  O .  4 Subtract line 6 from line 60. Taxable mount - see instructions  O .  5 Lines 4d and 5 from line 1. The amount must be distributed accome for 2013. Subtract line 4 from line 2 a Exable amount - see instructions  O .  8 Excess distributions curryover from 2009 not applied on line 5 or line 7  D . 9  Excess distributions curryover to 2015 Subtract lines 4d and 5 from line 69  I Analysis of lines 6  I Analysis of lines 6  I Excess from 2014			:		
d From 2012					
From 2013  1 Total of lines 3s through e  1 Qualitying distributions for 2014 from Part XII, line 4: ▶ \$ 1,821,460.  2 Applied to 2013, but not more life in line 2s  Applied to undistributed income of prior years (Election required - see instructions)  6 Treated as distributions out of corpus (Election required - see instructions)  7 A mount speese in experiment in easily assessed of section which a notice of deficiency has been insued, or on which the section 494(2s) tax has been previously assessed  8 Setting the form line 6. Taxable amount - see instructions. Subtract line 4 dand 5 from line 1. This amount - see instructions  9 C. Indistributed expense in expense public in the same amount must be shown suffer the lite form on which the section 494(2s) tax has been previously assessed  9 C. Einst rihe amount of prior years' undestributed excome for which a notice of deficiency has been insued, or on which the section 494(2s) tax has been previously assessed  9 C. Indistributed income for 2013. Subtract line 4 dand 5 from line 1. This amount must be distributed income for 2014. Subtract line 4 dand 5 from line 1. This amount must be distributed and 2015  7 Amounts treated as distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015  Subtract lines 6 and from line 6 to line 7  1 Amayses of lines:  1 Amayses of lines:  2 Excess from 2014  4 Excess from 2014  4 Excess from 2014  5 Excess from 2014  6 Excess from 2014					
1 Total of lines 3a through e					
4 Qualifying distributions for 2014 from Part XII, line 4 ► ► 1, 821, 460.  Applied to Undistributed income of prior years (Election required - see instructions)  6 Treated as distributions out of corpus (Election required - see instructions)  6 Treated as distributions out of corpus (Election required - see instructions)  6 Treated as distributions amount as instructions of the prior of the		Λ .			
Part XII, Inn 44 PS 1, 821, 460.  a Appled to 2013, but not more than line 2a b Appled to undistributed income of pror years (Election required - see instructions)  d Appled to 2014 distributable amount e Remaining amount distributed out of corpus (Election required - see instructions)  d Appled to 2014 distributable amount e Remaining amount distributed out of corpus 5  Excess destributions curryover applied to 2014  0.  125, 828.  4 O .  125, 828.  125, 82		0.			
a Applied to 2013, but not more than line 2a b Applied to undistributed income of prior years (Election requiredsee instructions)  d Applied to 2014 distributions out of corpus (Election requiredsee instructions)  d Applied to 2014 distributable amount e Remaining amount distributed out of corpus  5 Excess distributions curryove applied to 2014 of an amount appears in equition (ii), the same amount of an amount appears in equition (ii), the same amount of an amount appears in equition (ii), the same amount of a Corpus And lines 31, et, and 4e. Subtract line 3  b Priory years' (iii) indistributed incomes. Subtract line 4b from line 2b  c Enter the ment of prior years' undistributed income for which a notice of deficiency has been assued, or on which the section 4942(a) tax has been previously assessed d Subtract line 6c from line 6b. Taxable amountsee instructions e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amountsee instructions e Undistributed income for 2013. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015  7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b) (1)(F) or 4942(g)(3) (Election may be requiredsee instructions)  8 Excess distributions carryover from 209 not applied on line 5 or line 7  9 Excess from 2010   Excess from 2010   Excess from 2011   Excess from 2012   Excess from 2012   Excess from 2013   Excess from 2013   Excess from 2013   Excess from 2014   Excess from 2014   Excess from 2015   Excess from 2016   Exces					
D Appled to undistributed income of prior years (Election required - see instructions)     C Treated as distributions out of corpus (Election required - see instructions)     Appled to 2014 distributable amount e Remaining amount distributed out of corpus     Excess distributions carryover applied to 2014     Remaining pareas in ections (fine seame amount make indicated below:     Compared the early and a subtract line S     D Fror years' undistributed income. Subtract line 4 b From line 2b     Enter the amount of prior years' undistributed morne for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed     Subtract line 6c from line 6b. Tixable amount - see instructions     Undistributed income for 2013. Subtract line     4a from line 2a. Taxable amount - see instr.     Undistributed income for 2014. Subtract line     4a from line 2a. Taxable amount - see instr.     Undistributed income for 2014. Subtract line     4a from line 2a. Taxable amount - see instr.     Undistributed income for 2014. Subtract line     4a from line 2a. Taxable amount - see instr.     Undistributed income for 2014. Subtract line     4a from line 2a. Taxable amount - see instr.     Undistributed income for 2014. Subtract line     4b darbutions carryover from 2009     not applied on line 5 or line 7     Sexess distributions carryover from 2009     not applied on line 5 or line 7     Sexess from 2010     Excess from 2011     Excess from 2011     Excess from 2012     Excess from 2013     Excess from 2013     Excess from 2014     Excess from 2014     Excess from 2013     Excess from 2014     Excess from 2014     Excess from 2013     Excess from 2014				1 (05 (22	
years (Election required - see instructions) 6 Treated as distributions out of corpus (Election required - see instructions) 4 Applied to 2014 distributiable amount 6 Penamining amount distributed out of corpus 6 Grease destructions express applied to 2014 6 Earlier the rotat of each column as indicated below: a Corpus Add Interest of the State of the Corpus of th	· · ·			1,695,632.	<del> </del>
C Treated as distributions out of corpus (Election required - see instructions) 4 Applied to 2014 distributible amount e Remaining amount distributed out of corpus 5 Excess distributions corpover applied to 2014 0 .  Command of the second distribution of the second amount must be shown in column (a))  6 Enter the net total of each column as indicated below: a Corpus And lines 3f, 4c, and 4e. Subtract line 5 b Prior years' undistributed income. Subtract line 4b from line 2b c Enter the amount of prior years' undistributed income. Subtract line 4b from line 2b c Enter the amount of prior years' undistributed income of which a notice of deficiency has been issued, or on which the section 494(2a) tax has been previously assessed d Subtract line 6c from line 6b. Taxable amount - see instructions e Undistributed income for vine and the section 494(2a) tax has been previously assessed d Subtract line 6c from line 6b. Taxable amount - see instructions e Undistributed income for 2014. Subtract line 4 from line 2a. Taxable amount - see instructions e Undistributed income for 2014. Subtract line 4 from line 2a. Taxable amount - see instructions e Undistributed income for 2014. Subtract line 4 from line 2b d starbuted and 2015 7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 494(2)(3) (Election may be required - see instructions) 8 Excess distributions carryover from 2009 not applied on line 5 or line 7 9 Excess distributions carryover from 2009 not applied on line 5 or line 7 0 . 9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a 10 Analysis of line 9: a Excess from 2014 c Excess from 2014 c Excess from 2014					
(Election required - see instructions)  d Applied to 2014 distributable amount  e Remaining amount distributed out of corpus  5. Excess destributions carryover applied to 2014 (final amount appears in octumin (b))  6. Enter the nat total of each column as indicated below.  8. Corpus And lines 9f, 4c, and 4e Subtract line 5  P Prior years' undistributed income (so bit act in the section of 94/2(a) bit Ans been previously assessed  6. Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 94/2(a) bit Ans been previously assessed  8. Subtract line 6 from line 6b. Taxable amount - see instructions  9. Undistributed income for 2013. Subtract line 4 a from line 2. Taxable amount - see instructions  9. Undistributed income for 2014. Subtract lines 4 and 5 from line 1. This amount must be distributed in 2015  7. Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  8. Excess distributions carryover from 2009 not applied on line 5 or line 7  9. Excess distributions carryover from 2009 not applied on line 5 or line 7  9. Excess from 2011  6. Excess from 2011  6. Excess from 2012  d Excess from 2013  6. Excess from 2013  6. Excess from 2014	· · · · · ·				
d Applied to 2014 distributable amount e Remaining amount distributed out of corpus  Excess distributions carryover applied to 2014 ((flan amount appears in column (e)), the same amount inducted below:  a Corpus Add lines 31, 4c, and 4e Subtract line 5 b Prior years' undistributed income. Subtract line 4b from line 2b  c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 194(2a) tax has been previously assessed d Subtract line 6b from line 6b. Taxable amount - see instructions e Undistributed income for 2013. Subtract line 4 from line 2. Taxable amount - see instructions e Undistributed income for 2014, Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015 7. Amounts treated as distributions out of corpus to satisty requirements imposed by section 170(b) (1)(F) or 4942(6)(3) (Election may be required - see instructions) 8. Excess distributions carryover from 2009 not applied on line 5 or line 7 9. Excess from 2010 b Excess from 2011 c Excess from 2011 c Excess from 2012 d Excess from 2012 d Excess from 2012 d Excess from 2014		•			
e Remaining amount distributed out of corpus  5 Excess distributions carryover applied to 2014  6 Enter the net total of each column as indicated below:  8 Corpus Add hess 3. 4c, and 4e Subtract line 5  b Prior years' undistributed income. Subtract line 5  b Prior years' undistributed income in the subtract line 5  b Prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed  d Subtract line 6c from line 6b. Taxable amount - see instructions  e Undistributed income for 2013. Subtract line 4 a from line 2a. Taxable amount - see instructions  1 Undistributed income for 2014. Subtract line 4 a from line 2a. Taxable amount - see instructions  1 Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed income for 2015.  7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(f) or 4942(b)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015  Subtract lines 7 and 8 from line 6a  10 Analysis of line 9:  a Excess from 2010  b Excess from 2012  c Excess from 2012  c Excess from 2014  c Excess from 2014	· · · · · · · · · · · · · · · · · · ·	0.			405 000
5 Excess distributions carryover polited to 2014 (Subtract line 4 a from line 2a. Taxable amount - see instructions e Indistributed income for 2014. Subtract lines 4 from line 2. Taxable amount - see instructions e Indistributed income for 2014. Subtract lines 4 from line 2. Taxable amount - see instructions e Indistributed income for 2014. Subtract lines 4 from line 2. Taxable amount - see instructions e Indistributed income for 2014. Subtract lines 4 from line 2. Taxable amount - see instructions e Indistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015 7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(b)(3) (Election may be required - see instructions) 0.  8 Excess distributions carryover from 2009 not applied on line 5 or line 7 0.  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a 10. Analysis of line 9:  a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2012 d Excess from 2013 d Excess from 2013 d Excess from 2013 d Excess from 2014	· ·				125,828.
(if an amount appears in columni (d), the same amount must be shown in column (a).  6 Enter the net total of each column as indicated below:  a Corpus Add Inter 81, 4c, and 4e Subtract line 5 b Pror years' undistributed income. Subtract line 4 from line 2b c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed d Subtract line 6c from line 6b. Taxable amount - see instructions e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instructions e Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015 7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions) 8 Excess distributions carryover from 2009 not applied on line 5 or line 7 9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a 10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2013 e Excess from 2014	e Remaining amount distributed out of corpus			,	
6 Enter the net total of each column as indicated below: a Corpus Addines 3t, 4c, and 4e Subtract line 5 b Prior years' undistributed income. Subtract line 4b from line 2b c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed d Subtract line 6c from line 6b. Taxable amount - see instructions e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instructions e Undistributed income for 2014. Subtract line 4a from line 7a. Taxable amount - see instructions funds and 5 from line 1. This amount must be distributed in 2015 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions) 8 Excess distributions carryover from 2009 not applied on line 5 or line 7 9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a 10 Analysis of line 9: atxess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014 e Excess from 2014 e Excess from 2015 e Excess from 2014	(If an amount appears in column (d), the same amount	0.			0.
a Corpus Add lines 3f, 4c, and 4e Subtract line 5 b Prior years' undistributed income. Subtract line 4b from line 2b c Enter the amount of prior years' undistributed mome for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed d Subtract line 6c from line 6b. Taxable amount - see instructions e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instructions e Undistributed income for 2014. Subtract line 4a from line 2 a. Taxable amount - see instructions f Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015  7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(f) or 4942(g)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9: a Excess from 2011 c Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014	6 Enter the net total of each column as		:		
b Prior years' undistributed income. Subtract line 4b from line 2b  c Enter the amount of prior years' undistributed income for which a notice of deficiency has been insued, or on which the section 4942(a) tax has been previously assessed d Subtract line 6b. Taxable amount - see instructions e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instructions e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instructions lines 4d and 5 from line 1. This amount must be distributed in 2015 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a 10 Analysis of line 9: a Excess from 2011 c Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2013 e Excess from 2014		0.			
line 4b from line 2b  c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed  d Subtract line 6c from line 6b. Taxable amount - see instructions  e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instructions  f Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015  7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover from 2009  not applied on line 5 or line 7  a Excess from 2010  b Excess from 2010  c Excess from 2011  c Excess from 2013  e Excess from 2014  e Excess from 2014	· · · · · · · · · · · · · · · · · · ·				
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been sued, or on which the section 494(2) tax has been previously assessed  d Subtract line 6c from line 6b. Taxable amount - see instructions e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instructions f Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  Excess distributions carryover from 2009 not applied on line 5 or line 7  Subtract lines 7 and 8 from line 6a  10 .  1			0.		
undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed  d Subtract line 6c from line 6b. Taxable amount - see instructions e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instructions f Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions) Excess distributions carryover from 2009 not applied on line 5 or line 7 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a Analysis of line 9:  a Excess from 2010 b Excess from 2011 c Excess from 2013 e Excess from 2014			•		
d Subtract line 6c from line 6b. Taxable amount - see instructions e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instr. f Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015 7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions) 8 Excess distributions carryover from 2009 not applied on line 5 or line 7 9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a 10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2014 e Excess from 2014	undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously		0		
amount - see instructions e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instr. f Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015 7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions) 8 Excess distributions carryover from 2009 not applied on line 5 or line 7 9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a 10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014			<del></del>		
e Undistributed income for 2013. Subtract line 4a from line 2a. Taxable amount - see instr.  f Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015  7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9: a Excess from 2010 b Excess from 2012 d Excess from 2013 e Excess from 2014			0		
4a from line 2a. Taxable amount - see instr.  f Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015  7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014		-			
f Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015  7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9:  a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014				n	
lines 4d and 5 from line 1. This amount must be distributed in 2015  7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014		<del>-</del>			
be distributed in 2015 7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions) 8 Excess distributions carryover from 2009 not applied on line 5 or line 7 9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a 10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014					
7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9:  a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014					2 370 852
corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9:  a Excess from 2010					2,370,032.
section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014					
may be required - see instructions)  8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014					
8 Excess distributions carryover from 2009 not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014		0			
not applied on line 5 or line 7  9 Excess distributions carryover to 2015 Subtract lines 7 and 8 from line 6a  10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014	·				
Subtract lines 7 and 8 from line 6a  O .  Analysis of line 9:  a Excess from 2010  b Excess from 2012  d Excess from 2013  e Excess from 2014		0			
Subtract lines 7 and 8 from line 6a  10 Analysis of line 9:  a Excess from 2010  b Excess from 2011  c Excess from 2012  d Excess from 2013  e Excess from 2014		0.			
10 Analysis of line 9:  a Excess from 2010  b Excess from 2011  c Excess from 2012  d Excess from 2013  e Excess from 2014	•	0			
a Excess from 2010 b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014					
b Excess from 2011 c Excess from 2012 d Excess from 2013 e Excess from 2014					
c Excess from 2012 d Excess from 2013 e Excess from 2014					
d Excess from 2013 e Excess from 2014					
e Excess from 2014					
	423581			<u> </u>	Form <b>990-PF</b> (2014)

Form 990-PF (2014) THE COM	MUNITY FOUN	DATION, INC			7033813 Page 10
Part XIV Private Operating Fo			I-A, question 9)	N/A	
1 a If the foundation has received a ruling or					
foundation, and the ruling is effective for			▶ └	··-	
<b>b</b> Check box to indicate whether the found		ng foundation described		4942(j)(3) or	4942(j)(5)
2 a Enter the lesser of the adjusted net	Tax year	(1) 0010	Prior 3 years	(4) 0044	<b>→</b> ,,, <del>,</del> ,,
income from Part I or the minimum	(a) 2014	<b>(b)</b> 2013	(c) 2012	(d) 2011	(e) Total
investment return from Part X for					
each year listed					<u> </u>
b 85% of line 2a	<del></del>	<del> </del>			
c Qualifying distributions from Part XII,					
line 4 for each year listed					<del>-   </del>
d Amounts included in line 2c not					
used directly for active conduct of					
exempt activities		<del></del>			<del></del>
e Qualifying distributions made directly					
for active conduct of exempt activities. Subtract line 2d from line 2c					
3 Complete 3a, b, or c for the					<del>-  </del>
alternative test relied upon:					
a "Assets" alternative test - enter: (1) Value of all assets					
(2) Value of assets qualifying				-	
under section 4942(j)(3)(B)(i) <b>b</b> "Endowment" alternative test - enter					
2/3 of minimum investment return shown in Part X, line 6 for each year listed					
c "Support" alternative test - enter:					
(1) Total support other than gross					
investment income (interest,					
dividends, rents, payments on securities loans (section					
512(a)(5)), or royalties)					
(2) Support from general public					
and 5 or more exempt organizations as provided in					
section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from					
an exempt organization			-		
(4) Gross investment income  Part XV Supplementary Info	rmation (Comple	to this part only	if the foundation		more in essets
at any time during the			ii trie iouridation	11au \$5,000 01	more in assets
1 Information Regarding Foundation	<del></del>	· · · · · · · · · · · · · · · · · · ·	- <del>-</del>		
a List any managers of the foundation who	•	than 2% of the total con	tributions received by the	foundation before the	close of any tax
year (but only if they have contributed m			and another topolities by the		oroco or any tax
W.K. PAINE					
b List any managers of the foundation who	own 10% or more of th	ne stock of a corporation	(or an equally large portion	on of the ownership of	a partnership or
other entity) of which the foundation has	a 10% or greater intere	st.			
NONE				<u></u>	
2 Information Regarding Contributi					
Check here <b>X</b> if the foundation of	nly makes contributions	to preselected charitable	organizations and does n	ot accept unsolicited r	equests for funds. If
the foundation makes gifts, grants, etc. (					and d.
a The name, address, and telephone numb	per or e-mail address of	the person to whom app	lications should be addres	ssed;	
<b>b</b> The form in which applications should b	e submitted and informa	tion and materials they s	hould include:		
c Any submission deadlines:					
d Any restrictions or limitations on awards	, such as by geographic	al areas, charitable fields	, kınds of institutions, or o	other factors:	

3 Grants and Contributions Paid During the Y		Payment		
Recipient	If recipient is an individual, show any relationship to	Foundation	Purpose of grant or	
Name and address (home or business)	any foundation manager or substantial contributor	status of recipient	Purpose of grant or contribution	Amount
a Paid during the year				
BELHAVEN UNIVERSITY	N/A	PC	GENERAL OPERATING	
500 PEACHTREE STREET				
JACKSON, MS 39202	<del>  ·</del>	<u> </u>		500,000
CAPITOL HILL BAPTIST CHURCH	N/A	PC	\$100,000 TO ANACOSTIA	
25 A STREET NE			CHURCH PLANT, \$100,000	
WASHINGTON, DC 20002			TO CROSS, \$100,000 TO	
			FRONT PORCH AND	
	<del>                                     </del>		\$100,000 TO 9MARKS.	400,000
FAMILY TALK RADIO	N/A	PC	GENERAL OPERATING	
540 ELKTON DRIVE, SUITE 201				
COLORADO SPRINGS, CO 80907		<del> </del>		250,000
FOCUS ON THE FAMILY 8605 EXPLORER DRIVE	N/A	PC	GENERAL OPERATING	
COLORADO SPRINGS CO 80920				400,000
				100,000
THE BADDOUR CENTER	N/A	₽C	GENERAL OPERATING	
P.O. BOX 97				
SENATOBIA MS 38668 Total SEE CO	NTINUATION SHE	ጀጥ ( S )	▶ 3a	1,750,000
b Approved for future payment		7.7.7.	04	1,730,000
NONE				
		_		·
		ì	i l	

## · Part XVI-A · Analysis of Income-Producing Activities

Enter gross amounts unless otherwise indicated.	Unrelated b	Isiness income		ed by section 512, 513, or 514	(e)	
1 Program service revenue:	(a) Business code	(b) Amount	(C) Exclu- sion code	(d) Amount	Related or exempt function income	
•	code	<del>-</del>	COUP			
a			++	<del></del> -		
b		<del></del>	+ +			
d			<del>                                     </del>			
d	_		<del>                                     </del>			
f			† †			
g Fees and contracts from government agencies			1 1			
2 Membership dues and assessments						
3 Interest on savings and temporary cash						
investments			14	367.		
4 Dividends and interest from securities			14	367. 1,134,774.		
5 Net rental income or (loss) from real estate:	_			, , , , , , , , , , , , , , , , , , , ,		
a Debt-financed property						
<b>b</b> Not debt-financed property						
6 Net rental income or (loss) from personal property						
7 Other investment income	525990	<43,540	14			
8 Gain or (loss) from sales of assets other	323330	(43,340	* * *	-		
than inventory			18	<2,312,084.		
9 Net income or (loss) from special events		<del></del>	+ - 4	<u> </u>		
10 Gross profit or (loss) from sales of inventory			<del>                                     </del>			
11 Other revenue:						
a IRS 2010 REFUND			01	86.		
b IRS 2013 REFUND			01	23,228.		
C		-				
d						
e						
12 Subtotal. Add columns (b), (d), and (e)		<43,540	•>	<1,153,629.	. (	
13 Total. Add line 12, columns (b), (d), and (e)			•	13	<1,197,169	
(See worksheet in line 13 instructions to verify calculations	i.)					

rait Avi-b   Relationship of Activities to the Accomplishment of Exempt Purpose	Part XVI-B	Relationship of Activities to the Accomplishment of Exempt Purposes
---	------------	---

<b>—</b>	the foundation's exempt purposes (other than by providing funds for such purposes).	<del></del>
-		
		<del></del>
<del>-  -</del>		
621 24-14		Form <b>990-PF</b> (20

Form 99	0-PF (2014) <b>THE (</b>	COMMUNITY FOUND	DATION, INC.	23	<u>3-7</u> 033813	Pa	ge <b>13</b>
Part	XVII Information R Exempt Organ		and Transactions a	and Relationships With N			
1 Did	<del></del>		wing with any other organization	on described in section 501(c) of		Yes	No
		c)(3) organizations) or in section					
		dation to a noncharitable exempt		1124110110			
	Cash	salion to a nononariable exempt	organization of,		10(1)		v
	Other assets				1 <u>a(1)</u>		X
	ner transactions:				1a(2)	$\vdash$	X
-		able exempt ergenzetien			45.443		3.5
	Sales of assets to a noncharita	, •			1b(1)	<del>  </del>	_X_
		oncharitable exempt organization			1b(2)	$\vdash$	<u>X</u>
	Rental of facilities, equipment,				1b(3)	$\vdash$	_X_
٠,	Reimbursement arrangements	S			1b(4)	$\vdash$	X
٠.	Loans or loan guarantees	and and an endined and an endined			1b(5)	$\vdash$	<u>X</u>
		embership or fundraising solicita			1b(6)		X
		ailing lists, other assets, or paid o			<u> </u>	لــــا	X
				ways show the fair market value of the		ets,	
				ue in any transaction or sharing arrai	ngement, show in		
		, other assets, or services receive					
(a) Line r	o (b) Amount involved	<del></del>	ible exempt organization	(d) Description of transfers, transa	actions, and sharing arr	angeme	nts
		N/A	<u> </u>				_
	<del></del>	<u> </u>					
					_ <del></del>		
					_ <del></del>		
		<del> </del>					
		<u> </u>	<del></del>				
		<del>                                     </del>					
	<del>_</del> .			-			
			<del> </del>				
					<u> </u>		
	_						
		ctly affiliated with, or related to, o		zations described			_
		er than section 501(c)(3)) or in se	ection 527?		Yes	X	No
<u>b lf "</u>	Yes," complete the following sch		<del></del>				
	(a) Name of or	ganization	(b) Type of organization	(c) Description o	f relationship		
	<u> </u>						
	<del>_</del> .						
	<del></del>						
٥.	Under penalties of perjury, I declare and belief, it is true, correct, and co	that I have examined this return, inclu- implete. Declaration of preparer (other t	iding accompanying schedules and than taxnaver) is based on all inform	statements, and to the best of my knowled nation of which preparer has any knowledge	■ May the IHS C	iscuss t	his
Sign		* :			return with the shown below	prepare (see inst	er tr)?
Here	Zux.Ca	ane	4-28-15	President	X Yes		No
	Signature of officer or trusted	<del></del>	Date	Title	<u> </u>		
	Print/Type preparer's n	, '\	s signature		If PTIN		
D	THOMAS F.	BLANEY, ( )	P 121	self- employed			
Paid	CPA, CFE		~10	1109 5	P00234		
Prep	Tittle of Italia	CONNOR DAVIES,	LLP 0	Firm's EIN ▶	27-17289	45	
Use (	JUIA						

Form **990-PF** (2014)

(212)286-2600

Firm's address ▶ 665 FIFTH AVENUE

NEW YORK, NY 10022

Part XV Supplementary Information Grants and Contributions Paid During the Year (Continuation) Recipient If recipient is an individual, Purpose of grant or contribution show any relationship to any foundation manager or substantial contributor Foundation status of Amount Name and address (home or business) recipient THIRD MILLENNIUM MINISTRIES N/A PC GENERAL OPERATING P.O. BOX 300769 FERN PARK, FL 32730 100,000. Total from continuation sheets 100,000.

FORM 990-PF INTERE	ST ON SAVING	S AND TEMPOR	ARY CASH	INVESTMENTS	STATEMENT 1
SOURCE		(A) REVENUE PER BOOK		(B) INVESTMENT INCOME	(C) ADJUSTED NET INCOME
FIDELITY CASH AND MINTEREST AND DIVIDE IRS REFUND INTEREST THE CITIZENS NATION MERIDIAN	INDS		04. 9. 54.	104. 9. 254.	
TOTAL TO PART I, LI	NE 3	3	67.	367.	
FORM 990-PF	DIVIDENDS	AND INTEREST	FROM SEC	CURITIES	STATEMENT 2
SOURCE	GROSS AMOUNT	CAPITAL GAINS DIVIDENDS	(A) REVENUI PER BOOK		
DIVIDENDS AND INTEREST THRU FIDELITY DIVIDENDS AND INTEREST THRU K-1S	1,130,631. 4,143.	0.		31. 1,130,63 43. 4,14	
TO PART I, LINE 4	1,134,774.	0.	1,134,7	74. 1,134,77	74.
FORM 990-PF		OTHER INCO	ME		STATEMENT 3
DESCRIPTION			(A) VENUE BOOKS	(B) NET INVEST- MENT INCOME	
ORDINARY INCOME THR IRS 2010 REFUND IRS 2013 REFUND	RU K-1S		<43,540 86 23,228	. (	). ).
TOTAL TO FORM 990-F	PF, PART I, I	LINE 11	<20,226	.> (	0.

FORM 990-PF	LEGAL	FEES	<i>S</i> :	PATEMENT	4
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABI PURPOSES	
LEGAL FEES	32,021.	0.	-	32,02	<u> </u>
TO FM 990-PF, PG 1, LN 16A =	32,021.	0.		32,02	1.
FORM 990-PF	ACCOUNTI	NG FEES	S	PATEMENT	<u> </u>
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABI PURPOSES	
ACCOUNTING FEES	32,085.	0.		32,08	5.
TO FORM 990-PF, PG 1, LN 16B	32,085.	0.		32,08!	5.
FORM 990-PF C	THER PROFES	SIONAL FEES	S	PATEMENT	6
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABI PURPOSES	
INVESTMENT MANAGEMENT FEES	231,900.	231,900.		(	0.
TO FORM 990-PF, PG 1, LN 16C	231,900.	231,900.			0.
FORM 990-PF	TAX	ES	S	<b>TATEMENT</b>	7
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABI PURPOSE:	
FOREIGN TAXES EXCISE TAXES	105,720. 49,007.	105,720.			0 . 0 .
TO FORM 990-PF, PG 1, LN 18	154,727.	105,720.			0.

	OTHER	EXPENSES			STATEMENT 8
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVE MENT INC		(C) ADJUSTED NET INCOM	
DUES	725	•	0.		725.
OTHER PORTFOLIO DEDUCTIONS THRU K-1S BANK CHARGE	39,650 35		,650. 35.		0.
TO FORM 990-PF, PG 1, LN 23	40,410	39,	,685.		725.
FORM 990-PF	CORPORA	TE STOCK	<del></del>		STATEMENT 9
DESCRIPTION			вос	OK VALUE	FAIR MARKET VALUE
SEE ATTACHMENT B			28	3,559,061.	23,449,831.
TOTAL TO FORM 990-PF, PART II	, LINE 10B		28	3,559,061.	23,449,831.
FORM 990-PF	CORPORA	TE BONDS			STATEMENT 10
DESCRIPTION			вос	OK VALUE	FAIR MARKET VALUE
DESCRIPTION SEE ATTACHMENT B				OK VALUE 1,426,908.	
	, LINE 10C				VALUE
SEE ATTACHMENT B		VESTMENTS		1,426,908.	VALUE 4,039,999.
SEE ATTACHMENT B TOTAL TO FORM 990-PF, PART II	OTHER IN		4	1,426,908.	VALUE 4,039,999. 4,039,999.
SEE ATTACHMENT B  TOTAL TO FORM 990-PF, PART II  FORM 990-PF	OTHER IN	VESTMENTS ALUATION	BO0	1,426,908.	VALUE 4,039,999. 4,039,999.  STATEMENT 11  FAIR MARKET



## Realized Gains and Losses Fiscal Year Ending 12/31/2014

Community Foundation Inc Fidelity PO Box 13328 Jackson, MS 39236

## Realized Gains and Losses in Non-Taxable or Tax Deferred Accounts

Total Gains	-31,558 99	-23,036.81	-16,631.82	-21,554.55	-6,076 61	-18,529.62	-135,570.25	-70,733.51 -5,639.41	-76,372.92	-36,283.76	-248,226.93	-40,091.23	-641.20	-68,306.32	-423,156.91	-263,486.46	-341,780.31	3.24	-1,137,459.19
Long Term Gain	-31,558 99 -18,181.85	-23,036.81	-16,631.82	-21,554.55	-6,076.61	-18,529.62	-135,570.25	-70,733.51 -5,639.41	-76,372.92	-36,283.76	-248,226.93	40,091.23	-641.20	-68,306.32	-423,156.91	-263,486.46	-341,780 31	3.24	-1,137,459.19
Short Term Gain																			
Cost	36,899.00 21,129.93	26,874.95	18,857.95	24,548.31	6,921.01	21,146 85	156,378.00	. 106,224.87 6,595.83	112,820.70	54,353.79	323,552.49	44,878.70	706.07	74,144.70	448,454.00	285,802.08	365,490.00	0.00	1,219,475.55
Net Proceeds	5,340.01 2.948.08	3,838.14	2,226 13	2,993.76	844.40	2,617.23	20,807 75	35,491.36 956.42	36,447.78	18,070.03	75,325.56	4,787.47	64 87	5,838.38	25,297.09	22,315.62	23,709.69	3 24	82,016.36
Quantity	13,913.000 7,681.000	10,000.000	5,800.000	7,800.000	2,200.000	6,819 000	54,213.000	92,289.000 2,487 000	94,776.000	47,223.000	196,212.000	1,476.000	20.000	1,800.000	7,799.200	6,880.000	7,309.800	1.000	25,286.000
Date Sold	06/19/2014 06/19/2014	06/19/2014	06/19/2014	06/19/2014	06/19/2014	06/19/2014		06/20/2014 06/20/2014		06/23/2014		06/02/2014	06/02/2014	06/02/2014	06/02/2014	06/02/2014	06/02/2014	06/02/2014	
Date Acquired	06/17/2010 06/22/2010	06/24/2010	10/14/2010	10/26/2010	10/27/2010	10/28/2010		12/26/2008 06/17/2010		12/26/2008		06/16/2009	08/17/2009	09/11/2009	01/28/2010	10/08/2010	10/26/2010	12/03/2012	
Description	China Pharma Hidgs Inc China Pharma Hidgs Inc	China Pharma Hidgs Inc	China Pharma Hldgs Inc	China Pharma Hidgs Inc	China Pharma Hidgs Inc	China Pharma Hidgs Inc		China Pharma Hidgs Inc China Pharma Hidgs Inc		China Pharma Hidgs Inc		China Yida Hldg Co Com							

Realized Gains and Losses Fiscal Year Ending 12/31/2014

Community Foundation Inc Fidelity

February 9, 2015

Realized Gains and Losses in Non-Taxable or Tax Deferred Accounts

Description	Date Acquired	Date Sold	Quantity	Net Proceeds	Cost	Short Term Gain	Long Term Gain	Total Gains
Guangdong Nan Yue Log	04/28/2006	11/12/2014	155,000.000	113,599.50	71,895.36		41,704.14	41,704.14
Guangdong Nan Yue Log	04/28/2006	11/14/2014	95,000.000	72,724.78	44,064.89		28,659.89	28,659.89
Guangdong Nan Yue Log	04/28/2006	11/25/2014	155,000.000	129,947.30	71,895.36		58,051.94	58,051.94
Guangdong Nan Yue Log Guangdong Nan Yue Log	04/28/2006 10/16/2006	11/26/2014 11/26/2014	164,000.000 36,000.000	139,990.29 30,729.57	76,069.92 16,261.20		63,920.37 14,468.37	63,920.37 14,468.37
			200,000.000	170,719.86	92,331.12		78,388.74	78,388.74
Guangdong Nan Yue Log Guangdong Nan Yue Log	10/16/2006 10/25/2006	11/27/2014 11/27/2014	25,000.000 175,000.000	20,708.19 144,957.31	11,292.50 78,911.76		9,415.69	9,415.69 66,045.55
			200,000.000	165,665.50	90,204.26		75,461.24	75,461.24
Guangdong Nan Yue Log Guangdong Nan Yue Log	10/13/2006 10/25/2006	11/28/2014 11/28/2014	43,000.000 55,000.000	35,434.76 45,323.54	19,366.43 24,800.84		16,068.33 20,522.70	16,068.33 20,522.70
			000 000'86	80,758.30	44,167.27		36,591.03	36,591.03
Guangdong Nan Yue Log	10/13/2006	12/02/2014	200,000.000	161,952.81	90,076.40		71,876.41	71,876.41
Guangdong Nan Yue Log Guangdong Nan Yue Log	10/13/2006 10/26/2006	12/03/2014 12/03/2014	57,000.000 83,000.000	46,576.52 67,821.96	25,671.77 36,949.95		20,904.75 30,872.01	20,904.75 30,872.01
			140,000.000	114,398.48	62,621.72		51,776 76	51,776.76
Guangdong Nan Yue Log	10/26/2006	12/04/2014	12,000.000	9,712.12	5,342.16		4,369.96	4,369.96
			1,255,000.000	1,019,478 65	572,598.54		446,880.11	446,880.11
Nota Do Tesouro Nacion Nota Do Tesouro Nacion Nota Do Tesouro Nacion	01/13/2010 05/13/2011 02/27/2013	02/28/2014 02/28/2014 02/28/2014	3,400,000 2,683,000 5,254,000 11,337 000	1,405,619.23 1,109,198.94 2,172,095.12 4,686,913.29	1,719,872.59 1,640,046.34 2,787,882.37 6,147,801.30		-314,253.36 -530,847.40 -615,787.25 -1,460,888 01	-314,253,36 -530,847.40 -615,787.25 -1,460,888.01

Realized Gains and Losses Fiscal Year Ending 12/31/2014

Fidelity Community Foundation Inc Realized Gains and Losses in Non-Taxable or Tax Deferred Accounts

Description	Date Acquired	Date Sold	Quantity	Net Proceeds	Cost	Short Term Gain	Long Term Gain	Total Gains
Sandnes Sparebank Pri	09/15/2006	10/14/2014	750.000	11,025.75	22,986.02		-11,960.27	-11,960.27
Sparebanken Ost Nok1	07/21/2003	10/13/2014	185 000	1,348.77	3,147.21		-1,798.44	-1,798.44
Sparebanken Ost Nok1	07/21/2003	10/14/2014	3,486.000	25,531.10	59,303.71		-33,772.61	-33,772.61
Sparebanken Ost Nok1	07/21/2003	10/15/2014	923.000	6,791.78	15,702.05		-8,910.27	-8,910.27
Sparebanken Ost Nok1 Sparebanken Ost Nok1	07/18/2003 07/21/2003	10/16/2014	2,000.000	14,641.32 4,326.51	33,935.00 10,054.07		-19,293.68 -5,727.56	-19,293.68 -5,727.56
			2,591.000	18,967.83	43,989.07		-25,021.24	-25,021.24
			7,185.000	52,639.48	122,142.04		-69,502 56	-69,502.56
Sparebanken Vest N0k25 Sparebanken Vest N0k25	07/22/2003 09/14/2006	10/15/2014	9,511.000	71,407.64 12,012.64	90,700.53 24,605.04		-19,292.89 -12,592.40	-19,292.89 -12,592.40
			11,111.000	83,420 28	115,305.57		-31,885.29	-31,885 29
Sparebanken Vest N0k25	07/22/2003	10/16/2014	3,589.000	26,014.30	34,226.07		-8,211.77	-8,211.77
			14,700.000	109,434.58	149,531.64		40,097.06	40,097.06
	04/21/2011 04/25/2011	03/06/2014 03/06/2014	4,667.000	5,606.13	10,924.51 34,903.39		-5,318.38 -17,120.42	-5,318.38 -17,120.42
	04/27/2011	03/06/2014	7,386 000	15,255.59 8,872.26	29,191.42 16,667.27		-13,935.83 -7,795.01	-13,935.83 -7,795.01
Tianyin Pharmaceutical C Tianyin Pharmaceutical C	04/28/2011 04/29/2011	03/06/2014 03/06/2014	18,300 000 15,400.000	21,982.46 18,498.90	40,933.22 34,964.39		-18,950.76 -16,465.49	-18,950.76 -16.465.49
Tianyin Pharmaceutical C	05/02/2011	03/06/2014	7,243.000	8,700.49 36,685,48	16,372.85		-7,672.36 6 124 10	-7,672.36 6 124 10
	11/16/2011	03/06/2014	36,150.000	43,424.35	33,073.64		10,350.71	10,350.71
	11/18/2011	03/06/2014	34,000.000	40,841.72	29,739.80		6,294.00 11,101.92	6,294.06 11,101.92

Realized Gains and Losses Fiscal Year Ending 12/31/2014

Fidelity Community Foundation Inc

# Realized Gains and Losses in Non-Taxable or Tax Deferred Accounts

Description	Date Acquired	Date Sold	Quantity	Net Proceeds	Cost	Short Term Gain	Long Term Gain	Total Gains
Tianyin Pharmaceutical C	11/21/2011	03/06/2014	27,503.000	33,037.35	21,812.63		11,224.72	11,224.72
			229, 193.000	275,312.86	317,475.60		-42,162.74	-42,162.74
Tianyin Pharmaceutical C	11/21/2011	03/07/2014	13,997.000	15,679.65	11,101.02		4,578.63	4,578.63
	1102/22/11	#102/10/c0	67.350.000	75,446.48	51,675.98		23,770.50	23,770.50
Tianyin Pharmaceutical C	11/22/2011	03/10/2014	55,957.000	59,826.15	42,555.30		17,270.85	17,270.85
			352,500.000	410,585.49	411,706.88		-1,121 39	-1,121 39
Totens Sparebank Nok60 Totens Sparebank Nok60	05/22/2003 09/15/2006	10/14/2014	0.581 141.419	6.17 1,501.94	6.14 2,799.37		0.03 -1,297.43	0.03 -1,297.43
		-	142.000	1,508.11	2,805.51		-1,297.40	-1,297 40
Vivendi Sa Eur5.50	02/22/2012	02/26/2014	15,706.667	447,871.14 455,325,83	329,091.10 338 164 18		118,780.04	118,780.04
Vivendi sa Eurs.50 Vivendi Sa Eurs.50 Vivendi Sa Eurs.50	02/29/2012 03/01/2012	02/26/2014 02/26/2014 02/26/2014	4,671.700 20,853.533	133,212.20 133,212.20 594,632.56	97,643.01 97,643.01 397,800.65		35,569.19 196,831.91	35,569.19 196,831.91
			57,200.000	1,631,041.73	1,162,698.94		468,342.79	468,342.79
Long Term Gaın				8,079,969.00	10,135,298.91		-2,055,329.91	
Total (Sales)				8,079,969.00	10,135,298.91		-2,055,329.91	-2,055,329.91
Total Gains							-2,055,329.91	-2,055,329.91

The accompanying data is provided to you for informational purposes only. Although it is derived from information which we believe to be accurate, we cannot guarantee its accuracy. There can be no assurance that past performance can be repeated in the future. This information is not intended to be used for any official tax purposes. The performance data includes reinvestment of all income and capital gains. This performance is after the deduction of management fees and commissions if any. No implication or inference should be drawn that managed accounts will achieve similar investment performance in the future.

The Community Foundation, Inc. EIN# 23-7033813 Equities and Fixed Income Securities As of 12/31/14

Description	Symbol	Trade Date	Quantity	Unit Cost		Cost Basis	Current Price	Current Value
Equities								
Annuity & Life Re Hldgs	ANNRF	2/9/2012	400,000		7.79	3,200,000.00	5.684	2,273,505.67
China Housing and Land D	CHLN	9/2/2009	20,288		1.612	32,699.21	0.51	10,346.88
China Housing and Land D	CHLN	7/6/2010			2.051	83,690.83		
China Housing and Land D	CHLN	7/7/2010			1.879	136,175.28		
China Housing and Land D	CHLN	7/8/2010	-		2.051	54,418.32		
China Housing and Land D	CHLN	10/18/2010			2.345	37,385.30		
China Housing and Land D China Housing and Land D	CHLN CHLN	12/3/2010 12/6/2010			2.42 2.463	8,703.04		
China Housing and Land D	CHLN	3/31/2011	23,300 13,077		1.986	62,798.85 25,968.30		
China Housing and Land D	CHLN	4/1/2011			1.957	313,136.00		
China Housing and Land D	CHLN	4/28/2011	12,188		2.222	27,086.61		
China Housing and Land D	CHLN	5/16/2011			1.876	22,357.99		
China Housing and Land D	CHLN	5/17/2011	21,300		1.916	40,810.80		
China Housing and Land D	CHLN	1/31/2013	62,139		1.335	82,929.64		
China Housing and Land D	CHLN	2/1/2013	7,100		1.336	9,487.20	0.51	3,621.00
China Housing and Land D	CHLN	2/5/2013	18,600		1.313	24,414.60	0.51	9,486.00
China Housing and Land D	CHLN	2/6/2013	22,200		1.273	28,268.40	0.51	11,322.00
China Housing and Land D	CHLN	2/11/2013	20,800		1.249	25,988.40	0.51	10,608.00
China Housing and Land D	CHLN	11/21/2013	25,556		1.898	48,517.40	0.51	13,033.56
China Housing and Land D	CHLN	11/29/2013	34,417		2.398	82,537.88		
China Housing and Land D	CHLN	12/2/2013	23,429		2.4	56,231.49		
China Housing and Land D	CHLN	12/3/2013	21,184		2.35	49,780.62	0.51	10,803.84
			659,030			1,253,386.16	0.51	336,105.30
China Ritar Power Corp	CRTP	3/6/2008	100		3.63	363	0.38	
China Ritar Power Corp	CRTP	7/15/2008	100		3.271	327.1	0.38	
China Ritar Power Corp	CRTP	9/19/2008	7,500		4.015	30,112.50		2,850.00
China Ritar Power Corp	CRTP	9/22/2008	34,300		3.975	136,352.79	0.38	
China Ritar Power Corp China Ritar Power Corp	CRTP CRTP	11/4/2009	17,100		5.1 4.921	87,204.87	0.38	6,498.00
China Ritar Power Corp	CRTP	11/17/2009 11/4/2010	71,300 5,548		3.2	350,867.30 17,756.00		27,094.00 2,108.24
China Ritar Power Corp	CRTP	3/22/2011	8,500		1.887	16,038.65		3,230.00
China Ritar Power Corp	CRTP	3/23/2011	25,395		1.809	45,939.56		9,650.10
China Ritar Power Corp	CRTP	3/24/2011	22,400		1.881	42,127.68		8,512.00
China Ritar Power Corp	CRTP	3/29/2011	14,757		1.785	26,339.77		5,607.66
China Ritar Power Corp	CRTP	9/8/2011	3,400		0.824	2,801.60		1,292.00
China Ritar Power Corp	CRTP	9/9/2011	50,000		0.821	41,050.00		
China Ritar Power Corp	CRTP	11/10/2011	4,200		0.807	3,391.08	0.38	1,596.00
China Ritar Power Corp	CRTP	11/14/2011	20,000		808.0	16,162.00	0.38	7,600.00
China Ritar Power Corp	CRTP	11/15/2011	18,975		0.791	15,011.12	0.38	7,210.50

The Community Foundation, Inc. EIN# 23-7033813 Equities and Fixed Income Securities As of 12/31/14

Description	Symbol	Trade Date	Quantity	Unit Cost	Cost Basis	Current Price	Current Value
China Ritar Power Corp	CRTP	11/16/2011	50,000	0.802	40,100.00	0.38	19,000.00
China Ritar Power Corp	CRTP	11/17/2011			•		
China Ritar Power Corp	CRTP	11/18/2011					
China Ritar Power Corp	CRTP	11/21/2011	6,900	0.802	5,531.73	0.38	2,622.00
China Ritar Power Corp	CRTP	11/23/2011	10,000	0.81	8,100.00	0.38	3,800.00
China Ritar Power Corp	CRTP	11/25/2011	12,000	0.807	9,680.40	0.38	4,560.00
China Ritar Power Corp	CRTP	11/28/2011	4,067	0.797	3,240.18	0.38	1,545.46
China Ritar Power Corp	CRTP	11/29/2011	30,000	0.804	24,132.00	0.38	11,400.00
			454,601		953,092.35	0.38	172,748.38
Conocophillips Nfs	СОР	10/3/2006	10,400	42.797	445,086.71	69.06	718,224.00
Conocophillips Nfs	COP	1/6/2011	2,500	51.106	127,764.83	69.06	172,650.00
Conocophillips Nfs	COP	5/5/2011	8,088	55.057	445,297.61	69.06	558,557.28
			20,988		1,018,149.15	69.06	1,449,431.28
DNB Nor Asa Ord Shs	DNBHF	8/24/2005	32,100	9.944	319,210.33	14.85	476,685.00
DNB Nor Asa Ord Shs	DNBHF	8/29/2005	32,300	9.866	318,675.43	14.85	479,655.00
DNB Nor Asa Ord Shs	DNBHF	10/3/2005		9.829	30,469.96	14.85	46,035.00
DNB Nor Asa Ord Shs	DNBHF	10/4/2005			•	14.85	22,275.00
DNB Nor Asa Ord Shs	DNBHF	10/5/2005			9,706.51	14.85	14,850.00
DNB Nor Asa Ord Shs	DNBHF	11/7/2005	100		985.29	14.85	1,485.00
DNB Nor Asa Ord Shs	DNBHF	3/24/2006		11.82		14.85	1,008,315.00
DNB Nor Asa Ord Shs	DNBHF	9/7/2006				14.85	105,435.00
DNB Nor Asa Ord Shs	DNBHF	9/8/2006	-		•	14.85	426,195.00
DNB Nor Asa Ord Sha	DNBHF	9/11/2006			2,320.16	14.85	2,970.00
DNB Nor Asa Ord Shs	DNBHF DNBHF	9/15/2006		11.561 11.326	364,186.06	14.85	467,775.00
DNB Nor Asa Ord Shs DNB Nor Asa Ord Shs	DNBHF	10/3/2006 9/15/2008			225,384.77 12,622.93	14.85 14.85	295,515.00 20,790.00
DNB Nor Asa Ord Shs	DNBHF	9/23/2008				14.85	850,905.00
DNB Nor Asa Ord Shs	DNBHF	10/13/2008	13,100	5.191	68,003 28	14.85	194,535.00
		,,	297,200		3,116,470.82	14.85	4,413,420.00
Full Apex Holdings Ltd	FAPXF	8/28/2007	1,009,800	0.193	194,435.72	0.038	38,099.75
Full Apex Holdings Ltd	FAPXF	8/29/2007	121,000	0.188	22,725.54	0.038	4,565.33
Full Apex Holdings Ltd	FAPXF	8/30/2007	183,700	0.189	34,715.43	0.038	6,931.00
Full Apex Holdings Ltd	FAPXF	10/29/2007	5,500	0.252	1,385.66	0.038	207.52
Full Apex Holdings Ltd	FAPXF	10/30/2007	260,700	0.249	64,813.24	0.038	9,836.21
Full Apex Holdings Ltd	FAPXF	10/31/2007	145,200	0.252	36,594.64	0.038	5,478.40
Full Apex Holdings Ltd	FAPXF	11/1/2007	661,100	0.252	166,725.68	0.038	24,943.30
Full Apex Holdings Ltd	FAPXF	12/19/2007	324,500	0.222	71,981.42	0.038	12,243.39
Full Apex Holdings Ltd	FAPXF	12/21/2007	460,900	0.213	98,220.92	0.038	17,389.76

The Community Foundation, Inc. EIN# 23-7033813 Equities and Fixed Income Securities As of 12/31/14

Description	Symbol	Trade Date	Quantity	Unit Cost		Cost Basis	Current Price	Current Value
Full Apex Holdings Ltd	FAPXF	12/26/2007	61,600		 0.221	13,603.78	0.038	2,324.17
Full Apex Holdings Ltd	FAPXF	2/18/2008			0.194	18,150.53		
Full Apex Holdings Ltd	FAPXF	2/20/2008			0.192	47,849.65		
Full Apex Holdings Ltd	FAPXF	2/21/2008			0.192			
Full Apex Holdings Ltd	FAPXF	8/4/2008			0.16			
Full Apex Holdings Ltd	FAPXF	8/5/2008			0.158			
Full Apex Holdings Ltd	FAPXF	8/6/2008	•		0.157			
Full Apex Holdings Ltd	FAPXF	8/7/2008			0.154			
Full Apex Holdings Ltd	FAPXF	8/8/2008			0.151	28,326.28		
Full Apex Holdings Ltd	FAPXF	8/11/2008			0.141	28,128.25		
Full Apex Holdings Ltd	FAPXF	8/12/2008			0.133	21,346.65		
Full Apex Holdings Ltd	FAPXF	8/14/2008			0.143	18,568.32		
Full Apex Holdings Ltd	FAPXF	8/15/2008			0.142	8,519.49		
Full Apex Holdings Ltd	FAPXF	8/18/2008	40,000		0 139	5,571.46	0.038	1,509.20
Full Apex Holdings Ltd	FAPXF	8/19/2008	150,000		0.135	20,230.38	0.038	5,659.50
Full Apex Holdings Ltd	FAPXF	1/12/2010	404,000		0.13	52,494.57	0.038	15,242.92
Full Apex Holdings Ltd	FAPXF	1/27/2010	1,000,000		0.128	128,329.84	0.038	37,730.00
Full Apex Holdings Ltd	FAPXF	1/28/2010	135,400		0.129	17,476.56	0.038	5,108.64
Full Apex Holdings Ltd	FAPXF	4/16/2010	155,000		0.128	19,860.82	0.038	5,848.15
Full Apex Holdings Ltd	FAPXF	4/20/2010	595,000		0.13	77,590.95	0.038	22,449.35
Full Apex Holdings Ltd	FAPXF	6/25/2010	367,000		0 131	47,908.68	0.038	<b>13,846.9</b> 1
Full Apex Holdings Ltd	FAPXF	6/29/2010	170,000		0.131	22,219.76	0.038	6,414.10
Full Apex Holdings Ltd	FAPXF	6/30/2010	183,000		0 131	23,937.23	0.038	6,904.59
Full Apex Holdings Ltd	FAPXF	7/1/2010	222,000		0.131	28,971.96	0.038	8,376.00
Full Apex Holdings Ltd	FAPXF	10/21/2010	288,000		0.156	44,963.94	0.038	10,866.24
			8,990,000			1,524,047.69	0.038	339,192 70
Guangdong Nan Yue Logist	GUDNF	10/26/2006	14,000		0.445	6,232.52	0.789	11,048.52
Guangdong Nan Yue Logist	GUDNF	2/27/2008	54,000		0.366	19,769.62	0.789	
Guangdong Nan Yue Logist	GUDNF	2/28/2008	110,000		0.366	40,285.30	0.789	86,809.80
Guangdong Nan Yue Logist	GUDNF	2/29/2008	2,000		0.373	745.08	0.789	1,578.30
Guangdong Nan Yue Logist	GUDNF	3/4/2008	178,000		0.374	66,563.62	0.789	140,474.04
Guangdong Nan Yue Logist	GUDNF	3/10/2008	197,000		0.374	73,629.49	0.789	
Guangdong Nan Yue Logist	GUDNF	8/29/2008	57,000		0.257	14,667.07	0.789	44,983.20
Guangdong Nan Yue Logist	GUDNF	9/18/2008			0.232	46,438.72		
Guangdong Nan Yue Logist	GUDNF	9/19/2008			0.232	74,293.09		
Guangdong Nan Yue Logist	GUDNF	9/23/2008			0.238	95,146.06		
Guangdong Nan Yue Logist	GUDNF	9/24/2008			0.233	47,993.14		
Guangdong Nan Yue Logist	GUDNF	9/25/2008			0.232	92,982.72		
Guangdong Nan Yue Logist	GUDNF	9/26/2008	400,000		0.232	92,965.97	0.789	315,672.00
			2,538,000			671,712.40	0.789	2,002,938.84

The Community Foundation, Inc. EIN# 23-7033813
Equities and Fixed Income Securities As of 12/31/14

Description	Symbol	Trade Date	Quantity	Unit Cost		Cost Basis	Current Price	Current Value
Helgeland Sparebank Nok5	HGDPF	10/18/2013	1,383		6.327	8,750.60	7.422	10,264.35
Helgeland Sparebank Nok5	HGDPF	11/26/2013	46,508		7.387	343,552.04	7.422	345,173.12
Helgeland Sparebank Nok5	HGDPF	6/18/2014	59,003		8.674	511,816.12	7.422	437,908.52
			106,894			864,118.76	7.422	793,346.00
Kingboard Copper Foil HI	KNBDF	2/1/2007	297,000		0.345	102,424.72	0.113	33,617.43
Kıngboard Copper Foil Hl	KNBDF	2/2/2007	500,000		0.347	173,368.57	0.113	56,595.00
Kingboard Copper Foil Hl	KNBDF	2/5/2007	443,000		0.345	153,034.88	0.113	50,143.17
Kingboard Copper Foil Hl	KNBDF	8/5/2008	90,000		0.182	16,407.38	0.113	10,187.10
Kingboard Copper Foil Hl	KNBDF	8/27/2008	80,000		0.173	13,870.94	0.113	9,055.20
Kingboard Copper Foil Hl	KNBDF	8/28/2008	180,000		0.177	31,841.20	0.113	20,374.20
Kingboard Copper Foil Hl	KNBDF	8/29/2008	380,000		0 178	67,519.04	0.113	43,012.20
Kingboard Copper Foil HI	KNBDF	9/2/2008	170,000		0.175	29,823.56	0.113	19,242.30
Kingboard Copper Foil HI	KNBDF	9/3/2008	130,000		0.175	22,707.80	0.113	14,714.70
Kingboard Copper Foil HI	KNBDF	9/4/2008	220,000		0.176	38,706.17	0.113	24,901.80
Kingboard Copper Foil HI	KNBDF	9/8/2008	19,000		0.17	3,225.06	0.113	2,150.61
Kingboard Copper Foil HI	KNBDF	9/18/2008	330,000		0.166	54,732.90	0.113	37,352.70
Kingboard Copper Foil HI	KNBDF	2/12/2010	221,000		0.21	46,353.66	0.113	25,014.99
Kingboard Copper Foil HI	KNBDF	4/19/2011	167,028		0.295	49,346.12	0.113	18,905.90
Kingboard Copper Foil HI	KNBDF	4/20/2011	2,000		0.298	596.28	0.113	226.38
Kingboard Copper Foil Hl	KNBDF	4/25/2011	5,000		0.3	1,497.70	0.113	565.95
Kingboard Copper Foil HI	KNBDF	4/26/2011	415,972		0.297	123,684.15	0.113	47,083.87
Kingboard Copper Foil HI	KNBDF	5/4/2011	24,000		0.306	7,345.07	0.113	2,716.56
Kingboard Copper Foil Hl	KNBDF	5/5/2011	434,000		0.302	131,042.55	0.113	49,124.46
Kingboard Copper Foil HI	KNBDF	5/6/2011	234,000		0.307	71,895.47	0.113	26,486.46
Kingboard Copper Foil HI	KNBDF	5/9/2011	208,000		0.304	63,199.32	0.113	23,543.52
			4,550,000			1,202,622.54	0.11319	515,014.50
Regal Petroleum Plc Shs	RGPMF	10/7/2010	417,275		0.289	120,679.53	0.049	20,329.64
Regal Petroleum Plc Shs	RGPMF	10/11/2010	657,725		0.277	181,868.91	0.049	32,044.36
Regal Petroleum Plc Shs	RGPMF	2/20/2012	15,000		0.475	7,129.50	0.049	730.80
Regal Petroleum Plc Shs	RGPMF	2/21/2012	50,000		0.47	23,490.00	0.049	2,436.00
Regal Petroleum Plc Shs	RGPMF	3/1/2012	10,000		0.466	4,660.40	0.049	487.20
Regal Petroleum Plc Shs	RGPMF	3/6/2012	70,000		0.475	33,265.81	0.049	3,410 40
Regal Petroleum Plc Shs	RGPMF	3/7/2012	25,000		0.476	11,892.50	0.049	
Regal Petroleum Plc Shs	RGPMF	3/8/2012	95,000		0.478	45,419.50	0.049	4,628 40
Regal Petroleum Plc Shs	RGPMF	3/9/2012	25,000		0.474	11,847.50	0.049	1,218.00
			1,365,000			440,253.65	0.049	66,502 80
Shengtai Pharmaceutical	SGTID	5/11/2007	31,297		2.7	84,501.90	0.07	2,190 79

The Community Foundation, Inc. EIN# 23-7033813 Equities and Fixed Income Securities As of 12/31/14

Description 	Symbol	Trade Date	Quantity	Unit Cost	Cost Basis	Current Price	Current Value
Sinolink Worldwide Hldg	SNLKF	10/25/2004	653,750	0.088	57,474.36	0.077	50,580.64
Sınolink Worldwide Hldg	SNLKF	5/31/2007	876,250	0	0	0.077	67,795.46
Sinolink Worldwide Hldg	SNLKF	1/23/2008			2,160.13	0.077	1,083.18
Sinolink Worldwide Hldg	SNLKF	2/11/2008					· ·
Sinolink Worldwide Hldg	SNLKF	3/25/2008					· ·
Sinolink Worldwide Hldg	SNLKF	8/1/2008	-				· ·
Sinolink Worldwide Hldg	SNLKF	8/19/2008			•		
Sinolink Worldwide Hldg	SNLKF	8/20/2008					
Sinolink Worldwide Hldg	SNLKF	8/21/2008					•
Sinolink Worldwide Hldg	SNLKF	8/25/2008					•
Sinolink Worldwide Hldg	SNLKF	8/26/2008					
Sinolink Worldwide Hldg	SNLKF	8/27/2008					
Sinolink Worldwide Hldg	SNLKF	8/28/2008					·
Sinolink Worldwide Hldg	SNLKF	9/2/2008					•
Sinolink Worldwide Hldg	SNLKF	9/3/2008	-				
Sinolink Worldwide Hldg	SNLKF	9/4/2008					•
Sinolink Worldwide Hldg	SNLKF	4/22/2010					
Sinolink Worldwide Hldg	SNLKF		1,552,000				
Sinolink Worldwide Hldg	SNLKF	11/10/2010	1,134,167	0.156	176,390.55	0.077	87,750.50
			9,026,167		1,110,355.63	0.077	698,354.54
Sparebank 1 Nord-Norge G	SPXXF	1/15/2010	15,004	6.177	92,677.57	5.384	80,784.09
Sparebank 1 Nord-Norge G	SPXXF	1/25/2010	6,328	6.044	38,247.49	5.384	34,071.03
Sparebank 1 Nord-Norge G	SPXXF	1/29/2010	20,994.67	5.779	121,330.02	5.384	113,038.86
Sparebank 1 Nord-Norge G	SPXXF	2/5/2010	22,933.33	5 689	130,456.59	5.384	123,476.96
Sparebank 1 Nord-Norge G	SPXXF	9/12/2012	73,440	3.904			395,413.44
Sparebank 1 Nord-Norge G	SPXXF	10/10/2013	5,564	3.81	21,199.22	5.384	29,957.52
Sparebank 1 Nord-Norge G	SPXXF	10/10/2013	69,350	4.945	342,963.59	5 384	373,392.19
			213,614		1,033,599.58	5.384	1,150,134.09
Sparebank 1 SR-Bank ASA	SBRKF	8/30/2012					•
Sparebank 1 SR-Bank ASA	SBRKF	8/31/2012	32,700	6.085	198,987.31	7.084	231,661.38
			49,100		297,687.43	7.084	347,846.30
Sparebanken Midt Norge	SRMGF	9/5/2012	24,200	5.882	142,349.24	7.894	191,037.15
Sparebanken Midt Norge	SRMGF	9/6/2012	28,600	5.857	167,515.35	7.894	225,771.17
			52,800		309,864.59	7.894	416,808.32
Sparebanken Ost Nok1	EKSKF	4/24/2009	31,211	1.813	56,571.50	6.882	214,795.13

The Community Foundation, Inc. EIN# 23-7033813
Equities and Fixed Income Securities As of 12/31/14

Description		Symbol	Trade Date	Quantity	Unit Cost		Cost Basis	Current Price	Current Value
Sparebanken Ost	Nok1	EKSKF	9/25/2013	1,899		6.527	12,394.42	6.882	13,068.98
Sparebanken Ost	Nok1	EKSKF	9/26/2013	9,000	)	6.558	59,019.60	6.882	
Sparebanken Ost	Nok1	EKSKF	9/27/2013	1,000	)	6.582	6,582.10	6.882	6,882.03
Sparebanken Ost	Nok1	EKSKF	9/30/2013	10,000	)	6.511	65,107.66	6.882	68,820.33
Sparebanken Ost	Nok1	EKSKF	10/11/2013			6.483	3,254.40	6.882	3,454.78
Sparebanken Ost	Nok1	EKSKF	10/16/2013	9,896		6.428	63,613.98	6.882	68,104.60
				63,508			266,543.66	6.882	437,064.15
Sparebanken Vest		SPIZF	9/25/2013	1,000	ı	6.84	6,839.99	6.815	6,814.56
Sparebanken Vest		SPIZF	9/26/2013			6.858			
Sparebanken Vest		SPIZF	9/27/2013			6.869			
Sparebanken Vest		SPIZF	10/2/2013			6.856			
Sparebanken Vest		SPIZF	10/11/2013			6.771			
Sparebanken Vest	N0k25 G	SPIZF	10/18/2013	5,889	·	6.875	40,489.79	6.815	40,130.96
				28,912			198,194.01	6.815	197,022.62
Storebrand ASA Se	r A	SREDF	2/11/2014	18,384		6.214	114,242.63	3.94	72,438.49
Storebrand ASA Se	r A	SREDF	2/25/2014	133,936		6.157	824,600.06	3.94	527,748.15
Storebrand ASA Se	r A	SREDF	2/26/2014		l	6.273	862,553.85	3.94	541,791.39
Storebrand ASA Se		SREDF	2/26/2014			5.952			
Storebrand ASA Se		SREDF	10/3/2014			5.176			
Storebrand ASA Se		SREDF	10/8/2014			5.194			
Storebrand ASA Se		SREDF	10/9/2014			5.22	· ·		
Storebrand ASA Se	r A	SREDF	11/19/2014	92,100	. <b></b>	5.104	470,053.14	3.94	362,901.72
				659,300	ı		3,817,273.29	3.94	2,597,840.45
Tethys Petroleum l	Limited	TETHE	8/13/2008	600	ı	1.892	1,135.14	0.19	113.96
Tethys Petroleum l		TETHF	10/14/2008	128,000	ı	0.651	83,328.00	0.19	24,312.32
Tethys Petroleum l		TETHF	6/12/2009		ı	0.387			
Tethys Petroleum l		TETHF	6/12/2009			0.387	•		
Tethys Petroleum L		TETHF		1,719,050		1.417			
Tethys Petroleum L	imited	TETHF	4/5/2012	364,565		0.508	185,151.06	0.19	69,245.48
				3,161,615			3,072,925.85	0.19	600,517.15
Total Fina SA ADR		тот	9/2/2011			47.435			
Total Fina SA ADR		TOT	9/9/2011			45.053			
Total Fina SA ADR		TOT	3/28/2012			50.996	<del>-</del>		
Total Fina SA ADR		TOT	11/7/2012			48.502	· · · · · · · · · · · · · · · · · · ·		·
Total Fina SA ADR		TOT	11/8/2012			48.006			
Total Fina SA ADR		TOT	2/15/2013	6,401		50.11	320,757.23	51.2	327,731.20

The Community Foundation, Inc.
EIN# 23-7033813
Equities and Fixed Income Securities
As of 12/31/14

Description	Symbol	Trade Date	Quantity	Unit Cost	Cost Basis	Current Price	Current Value
Total Fina SA ADR	TOT	4/4/2013	5,800	48.185	279,473.42	51.2	296,960.00
			57,700	<del></del>	2,801,426.85	51.2	2,954,240.00
Totens Sparebank Nok60	TOTXF	5/22/2003	9,207.75	10.573	97,355.42	10.391	95,673.34
Totens Sparebank Nok60	TOTXF	7/17/2003	11,687.50	10.397	121,510.44	10.391	121,439.20
Totens Sparebank Nok60	TOTXF	7/24/2008	18,933.75	10.567	200,073.94	10.391	196,731.52
Totens Sparebank Nok60	TOTXF	9/27/2013	4,700	8.029	37,738.03	10.391	48,835.45
Totens Sparebank Nok60	TOTXF	10/11/2013	625	8.056	5,035.00	10.391	6,494.08
Totens Sparebank Nok60	TOTXF	10/18/2013	500	8.196	4,098.10	10.391	5,195.26
			45,654		465,810.93	10.391	474,368.85
Vivendi Sa Eur5.50	VIVEF	3/1/2012	27,120	17.722	480,612.18	25.036	678,974.64
Vivendi Sa Eur5.50	VIVEF	8/29/2012	21,260	17.705	376,411.54	25.036	532,264.04
			48,380		857,023.72	25.036	1,211,238.68
					28,559,060.96		23,449,831.41
Fixed Income	000554005	2/20/201	44.22-	40.000			
Nota Do Tesouro Nacional	P80551PC5	2/28/2014	11,337	48.322	4,426,908.24	35635.52	4,039,998.97